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Note :  Question No. 1 is compulsory. Do any eight 

questions from the remaining ones. 

1. (a) Which is bigger 5
6

 or 3
2

 and why ? Also 

give an activity to help a child learn to 
order fractions. 4  

(b) When a child was asked to write six 
hundred and eight, she wrote 68. What 
could be the reason for doing so ? Suggest 
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an activity to help the child realise her 
error. How would you modify this activity 
for helping a class of 30 children achieve 
the same aim ? 4 

(c) Why is ‘classification’ considered a pre-
number concept ? Suggest an activity to 
help a group of 30 pre-school children 
develop this ability. 4  

(d) Every 4-sided plane figure is a 
quadrilateral. Is this true ? Give reasons 
for your answer. Further, suggest an 
activity to help a child arrive at the correct 
answer. 4  

(e) Explain how a number line can be used to 
teach a class 6 child to subtract a negative 
number from a positive number. Further, 
how can this device be used for teaching a 
child to subtract a positive number from a 
negative number ? 4 

2. (a) Explain the E-L-P-S sequence of the 
teaching and learning process, in the 
context of multiplication of fractions. 6 

(b) Give an example each to show how the 
ability to estimate the following is useful :  

4 
(i) Area 
(ii) The quotient of two numbers 
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3. (a) Suggest how a child should check the 
correctness of the following statements : 6 

(i) 7 is a divisor of 42. 

(ii) The sum of two negative numbers is a 
positive number. 

(iii) A fraction with a larger denominator 
is always smaller than a fraction with 
a smaller denominator.  

(b) Learning mathematical concepts involves 
the process of ‘moving from general to 
particular’. Illustrate this in the context of 
learning ‘variable’. Further, explain the 
process of ideas ‘growing from particular to 
general.’ 4  

4. (a) (i) What is the meaning of generalising 
arithmetic ? Explain your answer with 
an example.  21

2
 

(ii) How would you solve the following 
problem : 21

2
 

  “The cost of 2 teas and  
4 biscuits is ` 28 and cost of 4 teas and 
2 biscuits is ` 44. 

  Find the cost of one tea. Solve the 
problem and write all the steps 
involved.    
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(b) What are three common errors that 
children make when using a protractor ? 

Suggest an activity to help a child correct 
any one of these errors : 5 

5. Which of the following statements are correct ? 
Give reasons for your choice. 10 

(i) Children are keen learners.  

(ii) Children always have to be given 
strategies for solving problems.  

(iii) At the pre-operational stage children 
cannot conserve number.  

(iv) Exercise and practice of mathematical 
processes is always repetitive and boring.  

(v) Children’s errors show that they are not 
making an effort to learn.  

6. (a) Samir reached the house of his friend at  
5 : 10 PM after starting at 4 : 30 PM. He 
calculated the time taken as : 

5 : 10 

4 : 30 

              80 Minutes 

How would you help Samir understand his 
error ?  2 
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(b) What is meant by saying that children 
cannot conserve quantity ? Further, what 

is the reason given by Piaget to explain 
their inability to conserve ? 4 

(c) What is the difference between the decimal 

system and the binary system ? Illustrate 
it by representing the number 85 in both 

the systems, and the reasons behind each 
representation. 4 

7. (a) What are two common errors children 

make when learning ‘angle’ ? Further, 
define ‘angle’. 3 

(b) Give an example each of a situation/word 
problem related to the winter season, for 
the categories below : 

(i) Ratio 

(ii) Complementary addition 

(iii) Cartesian product 

Further, which of these categories does a 

school-going child usually face first, and  
why ?   7 
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8. Explain, with an example each, why the 
following statements are not correct : 10 

(i) Children are not able to count correctly 
because they do not know the number 
names properly.  

(ii) The sum of two integers is always greater 
than either of the two numbers.  

(iii) The most critical aspect of learning 
multiplication is remembering 
multiplication facts.  

(iv) Subtraction should be taught only after 
children have completely learnt addition.  

(v) The simplest way to make children 
understand zero is to say that zero means 
nothing.  

9. (a) What is meant by the statement 
“Mathematics is a language” ? Explain this 
with two distinct examples. 6 

(b) Identify the errors made by a child in a 
class who writes : 

18.70 + 21.57 = 39.127 

What is the possible reasoning behind 
these errors ? Further, suggest an activity 
that could help her solve all such problems 
correctly. 4 
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10. (a) Give two distinct real life situations that 
are represented by the statement, 
7 1 13
8 4 2
÷ = . 4  

(b) Can objects of different shapes have : 

(i) The same area ? 

(ii) The same volume ? 

Give an example each to justify your 
answers.  

How would you assess the understanding 
of children of class 5 in any one of the 
contexts above ? 6 
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      AMT-01 

Lukrd mikf/ dk;ZØe (ch- Mh- ih-)@izkbejh 

fo|ky; xf.kr ds vè;kiu esa izek.k&i=k 

(lh- Vh- ih- ,e-) 

l=kkar ijh{kk 

fnlEcj] 2022 

(O;ogkjewyd ikB~;Øe) 

,-,e-Vh--01 % izkbejh Ldwyh xf.kr fl[kkus ds rjhds 

le; % 3 ?k.Vs     vf/dre vad % 100 

Hkkfjrk % 70% 

uk sV % iz'u la[;k 1 vfuok;Z gSA 'ks"k iz'uksa esa ls fdUgha 
vkB iz'uksa ds mÙkj nhft,A 

1- (d)  5
6
 vkSj 3

2
 eas ls dkSu&lh fHkUu cM+h gS vkSj 

D;ksa \ fHkUuksa dks Øe esa yxkuk fl[kkus esa 

cPph dh enn ds fy, ,d xfrfof/ Hkh 

crkb,A 4 

([k)  tc ,d cPph dks N% lkS vkB fy[kus ds fy, 

dgk x;k] rks mlus 68 fy[kkA bl rjg fy[kus 
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dk D;k dkj.k gks ldrk gS \ cPph dks mldh 

xyrh dk vglkl fnykus eas enn ds fy, ,d 

xfrfof/ lq>kb,A d{kk ds 30 cPpksa dks blh 

y{; dks izkIr djus eas enn ds fy, blh 

xfrfof/ dks vki dSls ifjo£rr djsaxs \ 4 

(x)  ^oxhZdj.k* dks ,d la[;k&iwoZ vo/kj.kk D;ksa 

ekuk tkrk gS \ 30 cPpksa ds lewg eas bl 

;ksX;rk dks fodflr djus eas enn ds fy, ,d 

xfrfof/ lq>kb,A 4 

 (?k) izR;sd 4&Hkqth; lery vkÑfr prqHkqZt gksrh 

gSA D;k ;g lR; gS \ vius mÙkj ds dkj.k 

crkb,A blds vkxs cPph] dh lgh mÙkj rd 

igq¡pus eas enn ds fy, ,d xfrfof/ lq>kb,A  

4 

(Ä)  d{kk 6 dh cPph dks /ukRed la[;k eas ls 

½.kkRed la[;k dks ?kVkuk fl[kkus ds fy, 

la[;k&js[kk dk iz;ksx fdl rjg fd;k tk 

ldrk gS] Li"V dhft,A blds vkxs] cPph dks 

½.kkRed la[;k eas ls /ukRed la[;k dks 

?kVkuk fl[kkus ds fy, blh la[;k&js[kk dk 

iz;ksx dSls fd;k tk ldrk gS \ 4 
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2- (d)  fHkUuksa dh xq.kk ds lanHkZ eas lh[kus dh 

izfØ;kvksa ds v- Hkk-&fp- iz- Øe dk o.kZu 

dhft,A 6 

([k)  fuEufyf[kr izR;sd dk ,d&,d mnkgj.k nsrs 

gq, crkb, fd vankt yxkus dh ;ksX;rk buesa 

fdl izdkj mi;ksxh gS % 4 

 (i)  {ks=kiQy 

 (ii)  nks la[;kvksa dk HkkxiQy 

3- (d)  fuEufyf[kr dFku lgh gSa] bldh tk¡p djus ds 

fy, cPph dks D;k djuk pkfg,] lq>kb, % 6 

 (i)  7] 42 dk Hkktd gSA 

 (ii)  nks ½.kkRed la[;kvksa dk ;ksx ,d 

/ukRed la[;k gksrh gSA 

 (iii) cM+s gj okyh fHkUu NksVs gj okyh fHkUu ls 
ges'kk NksVh gksrh gSA 

([k)  xf.krh; vo/kj.kk,¡ lh[kus esa ^O;kid ls 

fof'k"V dh vksj c<+uk* 'kkfey gSA ^pj* lh[kus 

ds lanHkZ eas bls Li"V dhft,A blds vkxs 

fof'k"V ls O;kid dh vksj c<+us dh izfØ;k 

dk o.kZu dhft,A 4 
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4- (d)  (i)  vadxf.kr dk O;kihdj.k djus dk D;k 

vFkZ gS \ ,d mnkgj.k ds }kjk vius 

mÙkj dks Li"V dhft,A 21
2 

 (ii)  fuEufyf[kr loky dks vki dSls gy 

djsaxs \ 21
2
 

  ¶2 pk; vkSj 4 fcLdqVksa dh dher ` 28 gS 
vkSj 4 pk; vkSj 2 fcLdqVksa dh dher  

` 44 gSA¸ 

  ,d pk; dh dher Kkr dhft,A bl 

loky dks gy dhft, vkSj gy djus eas 

'kkfey lHkh pj.k fyf[k,A 

([k)  pkans dk bLrseky djrs le; cPps vkerkSj ij 

dkSu&lh rhu xyfr;k¡ djrs gSa \ buesa ls fdlh 

,d xyrh dks lgh djus eas cPph dh enn ds 

fy, xfrfof/ lq>kb,A 5 

5- fuEufyf[kr eas ls dkSu&ls dFku lgh gSa \ vius mÙkj 

ds dkj.k crkb, % 10 

(i) cPps lh[kus ds bPNqd gksrs gSaA 

(ii) cPpksa dks ges'kk loky gy djus dh dk;Zuhfr;k¡ 

crkuh pkfg,A 
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(iii) iwoZ&lafØ;kRed voLFkk eas cPps la[;kvksa dk 

laj{k.k ugha dj ldrsA 

(iv) xf.krh; izfØ;kvksa dk vH;kl vkSj iqu%vH;kl 

ges'kk v#fpdj vkSj mckÅ gksrs gSaA 

(v) cPpksa }kjk dh xbZ xyfr;k¡ n'kkZrh gSa fd os 

lh[kus dk iz;kl ugha dj jgs gSaA 

6- (d)  lehj vius ?kj ls nksigj 4 % 30 cts pydj 

vius fe=k ds ?kj ij nksigj 5 % 10 cts 

igq¡pkA mls fdruk le; yxk bldh x.kuk 

lehj us bl izdkj dh % 

5 : 10 

4 : 30 

        80 (feuV) 

 lehj dks viuh xyrh le>kus eas vki dSls 

enn djsaxs \ 2 

([k)  ^cPps ek=kk dk laj{k.k ugha dj ldrs* bl 

dFku dk D;k vfHkizk; gS \ blds vkxs cPpksa 

}kjk laj{k.k dj ikus dh v;ksX;rk dks Li"V 

djus ds fy, fi;kts }kjk D;k dkj.k fn;k  

x;k \  4 
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(x)  n'keyo iz.kkyh vkSj f}&vk/kjh iz.kkyh ds 

chp D;k varj gS \ la[;k 85 dks nksuksa 

iz.kkfy;ksa esa fu:fir djds vkSj izR;sd fu:i.k 

ds ihNs D;k dkj.k gS] bls Li"V dhft,A 4 

7- (d)  ^dks.k* ds ckjs eas lh[krs gq, cPps vkerkSj ij 

dkSu&lh nks xyfr;k¡ djrs gSa \ blds vkxs 

^dks.k* dks ifjHkkf"kr dhft,A 3 

([k)  uhps nh xbZ Jsf.k;ksa ds fy,] lnhZ ds ekSle ls 

lacaf/r fLFkfr@bckjrh loky dk ,d&,d 

mnkgj.k nhft, % 

 (i)  vuqikr 

 (ii)  iwjd tek 

 (iii) dkrhZ; xq.kuiQy 

 blds vkxs] Ldwy tkus okyh cPph lkekU;r% 

buesa ls fdl Js.kh dk lkeuk djrh gS vkSj 

D;ksa \  7 

8- fuEufyf[kr izR;sd dk mnkgj.k nsrs gq,] Li"V dhft, 

fd fuEufyf[kr dFku lgh D;ksa ugha gSa % 10 

(i) cPps la[;kvksa ds uke Bhd ls ugha tkurs 

blfy, og lgh fxurh ugha dj ikrsA 
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(ii) nks iw.kk±dksa dk ;ksx muesa ls fdlh Hkh la[;k ls 

cM+k gksrk gSA 

(iii) xq.kk lh[kus dk lcls egRoiw.kZ igyw gS xq.kk ds 

rF;ksa dks ;kn j[kukA 

(iv) cPps tc iwjh rjg tek djuk lh[k ysa mlds 

ckn gh mUgsa ?kVko djuk fl[kkuk pkfg,A 

(v) cPpksa dks 'kwU; dks le>kus dk lcls vklku 

rjhdk gS muls dguk fd 'kwU; dk eryc dqN 

ugha gSA 

9- (d)  ^xf.kr ,d Hkk"kk gS*] bl dFku dk D;k vFkZ 

gS \ nks vyx&vyx mnkgj.kksa dh enn ls 

Li"V dhft,A 6 

([k)  ,d cPph d{kk eas 18-70 $ 21-57 = 39-127 

fy[krh gSA bl cPph }kjk dh xbZ xyrh dk 

irk yxkb,A bu xyfr;ksa ds chp D;k laHkkfor 

dkj.k gks ldrk gS \ blds vkxs] ,d ,slh 

xfrfof/ lq>kb, tks ,sls lHkh lokyksa dks lgh 

rjhds ls gy djus esa cPph dh enn dj ldsA 

4 
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10- (d)  jkstejkZ ds thou dh nks vyx&vyx fLFkfr;k¡ 

crkb, tks 7 1 13
8 4 2
÷ =  dFku dks fu:fir 

djrh gSaA 4 

([k)  D;k fHkUu&fHkUu vkdkj okyh oLrqvksa dk  

 (i) {ks=kiQy leku gks ldrk gS \ 

 (ii) vk;ru leku gks ldrk gS \ 

 vius mÙkj dh iqf"V ds fy, izR;sd dk ,d 

mnkgj.k nhft,A 

 mi;qZDr fdlh Hkh ,d ds lanHkZ eas] vki d{kk 

5 ds cPpkas dh le> dk vkdyu dSls  

djsaxs \  6 
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